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Time: 10 Minutes Paper G. Science 7th Total Marks: 10

4th Month, 4th Week, 1st Day [Syllabus: Unit # 8: Types of speed problem

+ 8.8, 8.9.

Q.No.1 Encircle the correct answer from the following choices. (1x2=2)
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1. If a car travels 55 km in first hour, 64 km in second hour and 75 km in

third hour, the car will have:

AT MY T SR AT SR Lo M- O eV

(a)|Uniform speed é{rzlﬁj{’ (b)|Variable speed /Q{J"""d”/}
(c)|Average speed A bsl|(d)|Constant speed prsls
2. The Earth's pull on the objects is called: Zu}%’:/.:«}d/fg‘éfgkﬁ/uf)
(a)|gravity (3: ;j/f (b)|frictional force u’u’ﬁ
(¢)|electrostatic force u’/iu@”/ﬁ A (d)[magnetic force u’u’..J@g'
Q.No.2. Write the short answers. 2x2=4) .gf.‘!"J c«l..’i/‘?

(i) What is variable speed? Explain with the help of graph.
-Qj/yl—'nt_ud/d'/(?+ ”L@J;Jf‘"d“/:

(ii) Differentiate between uniform speed and average speed.
U EG o st 624
Q.No.3. A train took 12 minutes to travel 10 km from station A to B and 24
minutes to travel 20km from station B to C. Calculate the average speed of
train in km/h. @@
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(a)[Uniform speed ,éf.’r/ 7 #|(b)[Variable speed J?.;‘J’"'d“/:
(¢)|Average speed A bsl|(d)|Constant speed prsl's
2. The Earth's pull on the objects is called: quéfo}Jj%r?'Jd:J
(a)|gravity & {’/f (b)|frictional force w},d;;
(c)|electrostatic force u’u’..JQ’/} A (d)|magnetic force w”u@g
Q.No.2. Write the short answers. 2x2=4) _u:,,i .:«Lli/z"

(i) What is variable speed? Explain with the help of graph.
<Q/¢>&5;;AJJ'f?+gé{JF"d{J

(ii) Differentiate between uniform speed and average speed.
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Q.No.3. A train took 12 minutes to travel 10 km from station A to B and 24
minutes to travel 20km from station B to C. Calculate the average speed of
train in km/h. “@)
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